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ii.

Or
Compute DTFT of a Sequence x(n) = (n-1)2 x(n), use
DTFT Properties.

Determine the range of values 'a' and 'b' for which
the LTI system with impulse response is stable

h(m) = a", n=0
", n<o0

Obtain the cascade and parallel realization for the
system function of IIR System given by
1+ lZ !

H@)= 4

] 1
l+-Zy (42271 . 272
U320 e 77 7%
Or
Obtain direct form and cascade form realizations for

the transfer function of an FIR system given by

1 3 ] 1
H@=(1-22"+227) -~z + 1 2
@=-12"4 22 ¢ 274527
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[image: image2.png]9. What are the difference between finite Impulse
Response system and Infinite Impulse Response
systems?

10. Define Recursive Discrete Time system.

PART B - (5x16=80 marks)

11. a. i Given x(t)as shown in Fig.1. Sketch the following (8)
signals

(1). (3t + 2 @, x(_—t - 1)
2

4
A

A S N

(2

Fig.1
ii,  Determine the power of  the signal (8)

x(@®)=5 cos(SOr + %J

Or
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() Find the Fourier Series for the periodic signal x (0]

ii.

as shown in Fig 2.

e

Fig.2

Wiite the properties of Fourier series.

Using Fourier ‘transform properties find the Fourier
transform of the signal
x{t) as shown in Fig.3
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14.
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1i.

Check whether the system
3 2

d’y)  Ady(@)
dr® ar®

is Static or dynamic, linear or non-linear, causal or

non-causal, time invariant or time variant, stable or

unstable.

Find transfer function and impulse response of the

SHW 5124 = (1)
dr

system %(t_’l +103(2) = 3x(t)

A signal x(t) = sine (150 7 t} is sampled at a rate of
(1). 100Hz (2). 200Hz (3). 300Hz for each of these
cases, can you recover the signal x(t) from the
sampled signal?
Write the properties of Z-transform.

Or
Find the 7 transform and its ROC of

o 1, n=0
x(n) =
¥ 37, n<0

Find the inverse Z transform of X(Z) =

10
—-7‘7/ 1—0———241 27 for |Z]>0
102317

The input to a causal linear time invariant system
is x(n) = u(—n A])+(%) u(n) . the Z-transform
:1 z!
of the system is Y(Z) = _]—2——
{ -5 ZMH(+2zZ™

Determine H(Z), the Z-transform of the impulse
response and also determine the output y(n).





